Two-slit Interference

Problem 1: An electromagnetic wave is incident upon two narrow slits separated by a
distance of 0.12 mm. The interference pattern shown below is cast upon a screen a distance
of 1.1 m away. The markings on the ruler in the figure are in cm, and the center of the
pattern is marked as “0”. (The black ink represents areas of high intensity.)

I I I I I I I I
4 1 @ 1 2 3 4

-3 -2 -

I
_5 —

a. What is the wavelength of the electromagnetic wave?

b. Consider the point marked “A” on the screen. What is Ar, the difference between the
distance from A to one slit and the distance from A to the other slit?
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